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B |% & E [32.3%% [38.7%% [30.4%+ [30.0%% | 8.9%% [16.0%% | 9.2%% [20.2% [15.5%+ | 206.1| 22.0 | 2
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% | DXF - 0.6%% | 1.0%x | — |o.o%x| — —  Jo.o*x]o.6% |o.3 5.2 0.6 | —
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B = (g/cm® | 0.98] 1.12] 1.04 1.06) 1.01| 1.00| 1.01| 1.00] 1.02 1.08| 1.02] 1.08] 1.00] 1.10
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%k ® %) | 27.3 22.4/ 23.8] 25.9) 30.7| 19.0| 26.7| 23.0| 25.3 24.4 25.6| 24.0] 27.0 22.7
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#rm (kgw/cm?) | 846| 362 320| 70| 336| 872 361 347 320 7ol 321| 387 819 380
HFMERE  (10%kgw/cm?®) | 69.7) 70.9| 65.9] 74.7 62.7| 77.9) 71.5| 69.1) 66.6| 74.0| 65.1 75.4] 60.9 79.7
® E (kgw/mm?) | 3.3 3.7 3.4 3.6 3.1 8.9 3.5 3.5 3.3 37 3.2 38 8.0 40
® ok ® ) | 18.0| 17.2| 18.6| 16.6| 10.4| 15.8| 17.7| 17.5| 18.4| 16.8| 18.9| 16.3 18.9 16.3
Bk 2 A% 8> | 12.9| 10.9| 12.8 11.0] 14.1 9.7 11.3| 12.5| 12.6] 11.2) 12.7] 11.1] 12.6 11.2
Bk = BER %, | 0.35 0.35| 0.87] 0.33 o0.41] 0.29 0.35| 0.35| 0.36| 0.34] 0.38 o0.32] 0.36) 0.34
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